
Q1) a) What is histogram of an image? Draw and explain in brief histogram for
dark, bright, low contrast and high contrast images. [6]

b) What is color model? Compare RGB & YIQ color model along with
their application. [5]

c) Consider two pixels 'p' and 'q', whose coordinates are (0, 0) and (6, 3).
Calculate the Euclidean distance and chess board distance between them.

[4]

OR

Q2) a) With reference to relation between pixel explain with example. [6]

i) 4 Connectivity

ii) 8 Connectivity

iii) Mixed connectivity

b) Explain following functional blocks of digital image processing in short.[5]

i) Image Acquisition

ii) Pre-processing

iii) Segmentation

iv) Representation & description

v) Recognition and interpretation
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c) Write the expression to find the number of bits to store a digital image.
Hence find out the number of bits required to store a 256 × 256 image
with 32 gray levels. [4]

Q3) a) Specify the need of image enhancement? Hence explain in short two
categories of spatial domain image enhancement. [6]

b) Explain Average filtering of an image with example. [5]

c) Write expression, draw graph & explain in short log transformation and
power law transformation. [4]

OR

Q4) a) Obtain Histogram and Histogram equilization for a given image (4 × 4) -
4 bits per pixel, given by [6]
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b) Explain non-linear filtering method of an image v. with example. [5]

c) Explain Bit Plane Slicing technique and its importance. [4]
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